> restart

(alPdW LOX % + (E’K%WLXQWIJSXB{' ;%:O

> Ecuacion = 2 y 2+3xy(x)+4x-2-px)-5S+(2xpx) +x-2+5x-3y(x) -4)

-diff (y O
S 2 2 5 2 3 4 d _
Ecuacion .—2y(x) +3xy(x) +4x y(x) + (2 xy(x) +x"+5x y(x) ) Ey(x) =0 €))
> with(DEtools) :
> Factorlntegrante = intfactor(Ecuacion)
FactorIntegrante := x )
> M(x,y) =2y--2+3xy+4x-2:y-5
M(x,y) :=2yz—|-3xy-i-4xzy5 3)
> N(x,y) =2xy+x-2+4+5x-3-y--4
N(x,y) :=2xy+x2+5x3y4 “
> comprobacion, = simplify(diff (M(x, y),y) —diff (N(x,y),x)) =0
comprobacion; :=2y +x+5 X y4 =0 o)

> MM x,y) = Factorintegrante-M (x, y); NN (x, y) := FactorIntegrante-N (x, y);
MM (x,y) =x (2y2 +3xy —|-4x2y5)

NN (x, y) :=x(2xy+x2+5x3y4) (6)
> comprobacion, = simplify(diff (MM (x,y),y) —diff (NN (x,y),x)) =0
comprobacion, :=0=0 @)

> IntMMx = int(MM (x, y), x)

IntMMx :=y5 P +y X -I—y2 e ®
> SolucionGeneral = expand( IntMMx + int( (NN (x, y) — diff (IntMMx, y)),y)) =CI
SolucionGeneral :=y5 X —I—yx3 +y2 ¥=CI &))
> restart
> Ecuacion = 2-x-y(x)--2 —=3-y(x)--3+ (7 —=3-xy(x)--2)-diff (v )=0
Ecuacion:=2xy(x)2—3y( ) +(7—3xy (% )ZO 10)
> with(DEtools) :
> intfactor(Ecuacion)
L an
y(x)
> Factlnt = Lz;
y
Factint == -5 (12)
y

> M(x,y) =2-xy-2—3-y--3



M(x,y) :=2xy2—3y3
N(x,y) =T—3-xy--2
N(x,y) :=7—3)cy2
comp = simplify(diff (M(x,y), y) —diff (N (x,y),x)) =0
comp, :=4xy—6y2=O

MM (x,y) = expand(Factlnt-M(x,y)); NN (x, y) := expand(Factlnt-N (x, y))
MM(x,y) =2x—3y

NN (x,y) :=l2—3x

Y
comp, = simplify(diff (MM (x, y), y) —diff (NN (x, y),x)) =0
comp, :=0=0
IntNNy := int(NN (x, y), )
IntNNy := —% —3xy

Solucion == IntNNy + int( (MM (x, y) — diff (IntNNy, x) ), x) =CI
Solucion .= - T 3xy +x*=CI
Y
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